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Proposed Key length: |2 || (re)load table

Now try to arrange these to form words (by clicking and dragging the table numbers). The text box below shows the output if
you tried to decrypt with this key. If you think the period is wrong simply change the number, and press reload.
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def decrypto(crypto):
for i in range(@, len(crypto),2):
print(crypto[i+1], end="")
print(crypto[i], end="")
print()
decrypto("oWdnreuf.lY uoc nar ae dht eemssga eaw yebttrew eh nht eelttre sra enic roertco drre . Ihtni koy
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sed -r -e 's/(.{2})/\1\n/g' ciphertext | sed -r -e 's/(.)(.)/\2\1/g' | tr -d '\n'; echo

PHP
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<?php
function crypto_transl_encrypt($pt)
{
$len = strlen($pt);
if (($len % 2) == 1) {
$pt .= 'X';
$len++;
}
$i = 0;
$ct =
while ($i < $len) {
$ct .= $pt{$i + 1};
$ct .= $pt{$i};
$i += 2;
}

return $ct;

}

$ciphertext = "oWdnreuf.lY uoc nar ae dht eemssga eaw yebttrew eh nht eelttre sra enic roertco drre . Ihtni
$plaintext = crypto_transl_encrypt($ciphertext);

print($plaintext);

?>

JavaScript

var answer = "oWdnreuf.lY uoc nar ae dht eemssga eaw yebttrew eh nht eelttre sra enic roertco drre . Ihtni

.match(/[\s\S]{1,2}/g)
.map(function(val){
return val[1l]+val[e@];

1}

-Join("");

console.log(answer)
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#include <stdio.h>
#include <string.h>
#include <stdlib.h>
char* decrypt(char cryptotext[]){
int i = 9;
char *value = malloc(200);
while (i < strlen(cryptotext)){
value[i] = cryptotext[i+1];
value[i+1] = cryptotext[i];
i+= 2;
}
value[i] = '\@';
return value;

}

int main(void)

{
char cryptotext[] = "oWdnreuf.lY uoc nar ae dht eemssga eaw yebttrew eh nht eelttre sra enic roertco dr
printf("%s\n", decrypt(cryptotext));
return 0;

}
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